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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER 2013 

Subject Code: 330904 Date: 13-06-2013        
Subject Name: Generation and Transmission of Electrical Power 
Time: 02:30 pm - 05:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. English version is considered to be Authentic. 

Q.1 (a) Explain the working of nuclear power station with diagram. 07 
 (b) Explain the the necessity of transposition of conductor in transmission line. 04 
 (c) Explain the Ferrenti effect along with phasor diagram. 03 

Q.2   
 (a) Discuss the socio-economic impacts of hydro power station. 07
 (b) Explain the energy conservation in thermal power station. Draw and explain 

steam and feed water cycle. 
07 

  OR  
 (b) A load is distributed by the generating station is as under: 

2500 KW 7500KW, 15000KW and 3500KW. Maximum demand on the 
power station is 20MW. Annual load factor is 50%. Find (i) diversity factor 
(ii) Demand factor (iii) No. of units supplied. 

07 

Q.3    
 (a) Derive the expression for string efficiency for string of three suspension 

insulators. 
07 

 (b) A transmission line having a span of 200m has equal supports. Conductor of 
hard drawn copper has diameter of 2.5 cm. ultimate strength of the material is 
40000 N/cm2 and the factor of safety is 4.0. find the sag which must be 
allowed. 
(a) in still air and 
(ii) with a wind pressure of 13 N/m and 1.0 cm ice coating. Find also vertical 
sag(Assume sp. Gravity of copper=8900 kg/m3 and ice=920kg/m3.mm)  

07 

  OR  

Q.3 (a) Draw and explain the phasor diagram for medium transmission line solution 
using T method. 

07 

 (b) A string of two suspension insulator with held the line voltage safely. The 
insulator in the vicinity of the conductors bears 1.3 times higher voltage than 
the second one. Find the string efficiency. 

07 

    
Q.4   

 (a) 1. Explain earthing and various function of earthing. 
2. Discuss the necessity of battery room in sub-station. 

04 
03

 (b) Explain the application of HVDC system. 07
  OR  

Q. 4 (a) Draw and explain the turbine speed governing  system. 07 
 (b) Explain the basic concept of MHD power generation. State its advantages. 07

Q.5   
 (a) Draw the generalized block diagram of load dispatch center and list its 

function. 
07 

 (b) Explain the methods to improve transmission efficiency. 07 
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  OR
Q.5 (a) State the advantages and limitation of wind power plant. 07

 (b) List the advantages of PLCC. 07
 

************ 
 

̆. ૧  (અ) ર°ખાȢૃિત દોર� ƛȻƈુલીયર પાવર ƨટ°શનȵુ ંકાય½ સમĤવો.  07 

 (બ) ˼ાƛસમીશન લાઇન મા ંવાહકોની ફ°રબદલી ȵુ ંમહƗવ સમĤવો. 04 

 (ક) ફ°ઝર ડાય˴ામ સાથે ફ°રંટ� અસર સમĤવો. 03 

̆. ૨    

 (અ) હાઇ˾ો પાવર ƨટ°શનની આિથ�ક અને સામĥક અસરની ચચા½ કરો.  07 

 (બ) થમ½લ પાવર ƨટ°શન મા ંઉĤ½ સરંëણ સમĤવો. ƨટ�મ અને ફ�ડ વોટર ચ˲ 

દોરો અને સમĤવો.  

07 

  અથવા   

 (બ) એક લોડ જનર°ટӄગ ƨટ°શન Ďારા નીચે Ⱥજુબ વહҰચાયેલો છે.
૨૫૦૦ 

�કલોવોટ, ૭૫૦૦ �કલોવોટ, ૧૫000 �કલોવોટ. પાવર ƨટ°શનની વધાર°મા ં

વધાર° માગં ૨0 મેગાવોટ છે. વિષ�ક લોડ ફ°ƈટર ૫0% છે. તો (1) 

ડાયવસ�ટ� ફ°ƈટર (2) ડ�માડં ફ°ƈટર અને (3) સƜલાય કર°લ Ȼિુનટ શોધો. 

07 

̆. 3    

 (અ) ́ણ સƨપેƛશન અવાહકોની ƨ˼ӄગ માટ°ની ƨ˼ӄગ કાય½ëમતા માટ°ȵુ ંɅ ૂ́  

તારવો.   

07 

 (બ) એક ૨00 મીટર િવƨતાર વાળ� ˼ાƛશમીશન લાઇન મા ંસરખા આધાર છે. , 

કોપરમાથંી બનાવેલ વાહકતારનો ƥયાસ ૨.૫ સેમી, પદાથ½ની િવિશƧટ 

મજȸતૂી ૪0000 N/cm2 તથા સેƝટ� ફ°ƈટર ૪.0 છે. તો નીચેની પ�ર�ƨથિત 

મા ંક°ટલો ઝોલ રહ°શે. 

(1) �ƨથર હવા  

(2) ૧૩ N/m હવાȵુ ંદબાણ અને ૧ સેમી બરફના આવરણ સાથે.   

વȴમુા ંલબં ઝોલ શોધો.(તાબંાની તથા બરફની  િવિશƧટ ઘનતા અȵુ˲ મે  

૮૯૦૦ ક�˴ા/મી૩ અને ૯૨૦ ક�˴ા/મી૩  છે.  

07 

  અથવા  

̆. 3 (અ) T પćિતનો ઉપયોગ કર� મƚયમ ˼ાƛƦમીશન લાઇન ના ઉક°લ માટ°ȵુ ંફ°ઝર 

ડાયા˴મ દોરો અને સમĤવો.  

07 

 (બ) બે સƨંપҪશન ӖƨȻલુેટર ની ƨ˼ӄગ લાઇન વોƣટ°જને Ʌરુ�ëત ર�તે બાધંી રાખે 

છે. જો વાહક નĥકનો ӖƨȻલુેટર બીĤ કરતા ં૧.૩ ગણો વોƣટ°જ ખમતો 

હોય તો ƨ˼ӄગ એફ�સીયસંી શોધો.  

07 

    
̆. ૪    
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 (અ) 1. અથ¢ગ એટલે Ƀુ ંસમĤવો. અને તેȵુ ંકાય½ સમĤવો.  

2. સબ ƨટ°શનમા ંબેટર� Įમની જĮ�રયાત ની ચચા½ કરો.  

04 
03 

 (બ) HVDC ̆ણાલીકા ઉપયો�ગતા સમĤવો.  07 

  અથવા  

̆. ૪ (અ) ટબા½ઇનની ƨપીડ ગવન¢ગ સીƨટમ દોરો અને સમĤવો. 07 

 (બ) MHD પાવર જનર°શનનો Ⱥળૂ િસćાતં સમĤવો. તેના ફાયદા લખો.  07 

̆. ૫    

 (અ) લોડ �ડƨપેચ સવ½સામાƛય ખડંાȢૃિત દોરો અને તેના કાય½ લખો. 07 

 (બ) ˼ાƛશમીશન કાય½દëતા Ʌધુારવાની ર�તો સમĤવો 07 

  અથવા  

̆. ૫ (અ) વӄડ પાવર Ɯલાટં ના ફાયદા અને મયા½દાઓ જણાવો.  07 

 (બ) PLCC ના ફાયદાઓની યાદ� બનાવો.  07 
 
 
 

************ 
 

  


